1. o f(x)E 2x? + 3x+ 22 Y Hol 3x—40]31, Y™ 2|7t
2x + 50|t} o] o, £(1) 9] gh2?

-1 @o ®1 @ 3 ® 5

B

flx) = (2x® + 3x + 2)(3x — 4) + (2x + 5)
=6x3+9x% +6x—8x> - 12x—-8+2x+5
=6x3+x2—4x-3

L f1)=64+1-4-3=0

f(x) = (2x2 +3x+2)(3x—4) + (2x + 5)
fA)=2+3+2)(3-4)+(2+5)=-T+7=0




et o] 2P A (m+ 3)x% —dmx+2m -1 =0°] T2 XL =

o1 oA Al o] TEAS DT S FE A £AL
—0o]lB2

=(=2m)?2 - (m+3)2m-1) =

INIECICRE

4m? = (2m* + 5m—3) =0
2m? —5m+3 =0
(m-1)2m-3)=0
.'.mzlE%:—§
2
3 5

SldE===
+2 2




ZED Db xy-1# 090 o8 x, y2] ol ool B QAT
xX—y-—

2 7Ha W, a— b e Fotelet
> o

> & 4

B ‘
2x+ay—b — ket
x—y—1
2x+ay-b=k(x—y-1)
x, yol Histe] A=]shd,
2-kx+(a+k)y-b+k=0
9jo] 4o x, yoll Tigt B54o]ojof shu 2
2-k=0,a+k=0, —b+k=0
k=2 a=-2,b=2
a-b=-

oll-[‘

O




E x— 12 YE Y7} 20]30, x 4 22 e Y 2|7t
s5oltt, tFHA f(x) & (x - 1)(x + 2) 2 Ue YA S R(x) 2t T o,

vpeiA] g2l efstol,
f(x) = (x=1)(x-2)Q(x) +ax + b=t & = ATt
f)=a+b=2
f(=2)=-2a+b=5
Aot a=-1 b=3
S R(x)=-x+3

R(2) =1




@6 @-3 o0 @ 3 ® 6
S5

22— x2 x2 x5t

(x> =x+1)(x*-x-3)-5

=(X+1)(X-3)-5

=X2-2X-3-5

=X2-2X-8

= (X-4)(X+2)

=2 -x-4)(x*-x+2)
Tt a=-1, b= -4, c=-10]2&

a+b+c=-1-4-1=-6




1
B

o,
ﬂ>\l_l‘
of
o,
i
=
[ V]
I
w0
=
+
—
Il
1o
4
rd

_ 1
Z o.M, a+ ,ﬂ+;%—3_—

T 202 A= x 9 oA Aol x2 +ax+b = 0°t a+ b
e oY
® 2 @1 ® -1 @—2 ® -3

OIZFFEA x2 - 3x+1 =09 F 0] o, BOIEE,
T3} Alpeke] A of oA
a+pB=3, af=1°]|c}.

(e+3) o+ D) =es (311

a+pB 3
af 1

<a+%> (ﬁ+§):aﬁ+1+1+a—1ﬂ:1+2+1=4

=(a+pB)+ 3+-=6

La+b=-2




1 ax® +bx+c

A

FAdolet A7} oA

7.

A, A=

AR

3

9]

o= x O AlFE FRE A 3-2i, 3+ 2 = LS T

52

e

ul

4

| -4 x 13 |=| =52 |= 52

2—-i+2+1i

— (3-2)(3+2)=9+4=13

c
a

T WE HPODE xo] A
X

a

2~
T

= 7

bc
|2

q

o




y/=f(z)

=
=
™ T
™ oy
il
T T
N o
Al
e
M
o L
==
—r o
#WML_L
et
A o« N
B oT
w o )
o N KW

® 571

@ 47

B

=0, f(2) =00°]

oAl f(-3)

o 27
|
A

5

=
T

s

=09 <2

f(*-1)

NG
do] Mz the Ao A4t 27

w H
o
o=
D
__p,_,_bmO
& ~
= 0
=

- N
=T
Q_uoaz_u
o

—
X
.
[
22“\
2R
)))q




¥-x+1=09 3 FZ =3t
FobH?
® 5 @ 4 ®)3

o} p=

1+Z o]

3 —

@ 2

=

o, 7p-p O @<=

B

2—x+1=02 2]z zo|BE2
z+z=1 zz=1




10. x+y=3,x20, y>0 <& o, 2x2 +y? o] HHZ-E M, LA m
o} 5V M —m © gHS Fatolet.

FAy=-x+3°14x20, y>00°|EE

=—x4+320 5> —x>-3 5> x<3..0<x<3 (" x=0)
T 2x2+y? = 262+ (=x+3)? = 222 +x2 - 6x+9 = 3x2 —6x+9
b Al FA o2 B 3(x2 - 2x) +9=3(x - 1)2 + 6
Lx=1d ) HEF 6, x =3 HAZ 18 M-m =12




